CHABOT-LAS POSITAS COMMUNITY COLLEGE DISTRICT

July 15, 2008

Agenda Item: 3.5

Subject: Professional Specialist and Program Leader Personnel

<u>Recommended Action</u>: That the Board of Trustees approves the following Professional Specialist and Program Leader Personnel.

I. ASSIGNED TO CHABOT COLLEGE

A. Employment

General

Alviso, Sandra L., effective 08/20/08 - 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Alviso, Sandra L., effective 08/20/08 - 12/31/08, \$30/hour, not to exceed 8 hours/week. (maximum = \$240/week)

Tutor for the Nursing Program.

Berven, Joanne H., effective 08/20/08 – 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Bowman, Myrna L., effective 08/20/08 – 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Bowman, Myrna L., effective 08/20/08 - 12/31/08, \$30/hour, not to exceed 8 hours/week. (maximum = \$240/week)

Tutor for the Nursing Program.

Brooks, Craig A., effective 07/16/08 - 12/31/08, \$20.00/hour, not to exceed 2,000 hours. (maximum = \$40,000)

Outreach assistant to assist with the transferring of high school students.

Cockerham, Rudolph (nmi), effective 08/20/08 – 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Farian, Jennifer R., effective 08/20/08 - 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Lewis, Byron K., effective 08/20/08 - 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Lounsbury, Karen S., effective 08/20/08 – 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Magdaleno, Joe M., effective 07/16/08 - 12/31/08, \$40.00/hour, not to exceed 1400 hours. (maximum = \$56,000)

Sign language interpreter for the hearing impaired.

McInnis, John N., effective 08/20/08 – 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Olives, Kathleen D., effective 08/20/08 - 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Scafuri, Lisa M., effective 08/20/08 – 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Schwer, Katherine L., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 25 hours/week. (maximum = \$375/week)

Provide support services for the coordinator of the Disabled Student Program and Services.

Symes, Jessica D.K., effective 08/20/08 – 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Teeples, Gina M., effective 08/20/08 - 12/31/08, \$190/student.

Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program.

Community Education

Eisler, Katherine E., effective 07/07/08 - 07/25/08, \$25.00/hour, not to exceed 15 hours. (maximum = \$770)

Community education instructor to teach art classes.

Ferrer, Melodi A., effective 07/07/08 - 07/31/08, \$25.00/hour, not to exceed 15 hours. (maximum = \$375)

Community education instructor to teach Spanish classes.

Padgett, Denise (nmi), effective 07/07/08 - 12/31/08, \$27.60/student, not to exceed 20 hours.

Community education instructor to teach zumba dance classes.

Romero, Angela C., effective 07/07/08 - 07/24/08, \$35.00/hour, not to exceed 22 hours. (maximum = \$770)

Community education instructor to teach language art classes.

Sarkar, Sujoy K., effective 07/01/08 - 12/31/08, \$25.00/hour, not to exceed 50 hours. (maximum = \$1,250)

Community education instructor to teach video commercial producer classes.

Schlachte, Carl P., effective 07/07/08 – 07/31/08, \$25.00/hour. Community education instructor to teach filmmaking classes.

II. ASSIGNED TO LAS POSITAS COLLEGE

A. Employment

General

Adkins, Lori J., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 61 and Health 81 courses.

Aversa, Drew A., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Emergency Medical Technician courses.

Bargiancchi, Anthony D., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Fire Service Technology courses.

Bilotti, Brendalyn (nmi), effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Emergency Medical Technician courses.

Burks, Tiara R., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Emergency Medical Technician courses.

Cullen, River A., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 81 course.

Donat, Teresa (nmi), effective 07/16/08 - 12/31/08, \$75.00/hour, not to exceed 300 hours. (maximum = \$22,500)

Project Director for the Job Development Incentive Training Fund (JDIF) Grant.

Duffy, John J., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 61 course.

Francies, Naila (nmi), effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 81 course.

Freelen, George T., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Fire Service Technology courses.

Gatkin, Joshua J., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 81 course.

Heath, Jenna E., effective 07/01/08 – 12/31/08, \$3,167/month. (maximum = \$19,002) Specialist to coordinate the outreach activities and to develop the program to include the student ambassador program and other community outreach activities.

Helstrom, Zel D., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 61 and Health 81 courses.

Hirashiki, Abby K., effective 07/01/08 – 12/31/08, \$3,000 flat rate.

Parent coordinator to plan and implement events of the College Bound Scholars Program and mentor liaison to monitor budget reports for the Foundation Board.

Hogue, Terrance K., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Emergency Medical Technician courses.

Holback, Richard A., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Fire Service Technology courses.

Hubbard, Jason N., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Emergency Medical Technician courses.

Hubbard, Sarah E., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Emergency Medical Technician courses.

Moorhead, Jane A., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 81 course.

Payne, Robin T., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 61 and Health 81 courses.

Portteus, Matthew W., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Fire Service Technology courses.

Riddle, Marylin (nmi), effective 07/16/08 - 12/31/08, \$20.60/hour, not to exceed 6 hour/week. (maximum = \$123.60/week)

To provide assistance with special projects for the Extended Opportunity Programs and Services (EOPS) budget and accounting strategies to help serve students efficiently.

Schoenecher, Paula M., effective 05/01/08 – 06/30/08, \$3,000 flat rate.

To develop new instructional materials and techniques for assisting with the Learning Disabled Program students.

Schoenecher, Paula M., effective 07/16/08 - 12/31/08, \$50.00/hour, not to exceed 400 hours. (maximum = \$20,000)

To provide reassessment and structure of the Learning Disability Program, which includes policies, processes, forms, and assessment of procedures.

Schoenecher, Paula M., effective 07/16/08 – 12/31/08, \$3,000 flat rate. To rewrite the entire Learning Skills (LRNS) curriculum, this includes five courses, major revisions, and several new courses.

Shipman, Vicki (nmi), effective 07/16/08 - 12/31/08, \$75.00/hour, not to exceed 300 hours. (maximum = \$22,500)

Manage the Job Development Incentive Training Fund (JDIF) Grant and the Industry Driven Regional Collaborative (IDRC) Grant to implement the Surgical Technology program.

Sperry, Jeffrey S., effective 07/16/08 – 08/15/08, \$1,200 flat rate.

To develop the website for the Writing Across the Curriculum Project for the English department.

Voelker, Kathryn M., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 81 course.

Ward, Scott D., effective 07/16/08 - 12/31/08, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 81 course.

III. ASSIGNED TO DISTRICT OFFICE

A. Employment

General

Chaney, Lavonne L., effective 07/16/08 - 12/31/08, \$15.00 hour, not to exceed 2080 hours. (maximum = \$31,200)

To provide training and support as a parent advocate for Alameda County Social Services under the Title IV-E contract.

Cross, Dyneze G.T., effective 07/16/08 - 12/31/08, \$15.00 hour, not to exceed 2080 hours. (maximum = \$31,200)

To provide training and support as a parent advocate for Alameda County Social Services under the Title IV-E contract.

Agenda Item: 3.5 July 15, 2008 Page 7

McNair, Diane M., effective 07/16/08 - 12/31/08, \$15.00 hour, not to exceed 2080 hours. (maximum = \$31,200)

To provide training and support as a parent advocate for Alameda County Social Services under the Title IV-E contract.

| Submitted: Mary Anne Gularte/Date | Approved: Joel L. Kinnamon/Date | _ |
|-----------------------------------|---------------------------------|---|
| APPROVEDD | DISAPPROVEDTABLED | |